Game on a Forest

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 megabytes

Plover and Georgia are playing a game on a forest graph. Given is an undirected acyclic graph(a
forest) with n nodes and m edges. Now, Plover and Georgia take turns operating on the graph, with
Georgia starting first.

Each operation must be one of the following types:

1. Select an edge in the graph. Then remove it.

2. Select a node in the graph. Then remove both the node and the edges attached to it.

When one of them is unable to operate on his/her turn(which means the graph is empty), the game is
lost and the other one wins. Now, assuming that Plover and Georgia are both extremely smart, Georgia
wants to know how many different first moves can make her win the game.

Input
The first line contains two integers n,m(1 < m < n < 10°) , indicating the number of nodes and the
number of edges, respectively.

For the next m lines, the i-th line contains two integers w;,v;(1 < u; < v; < n), indicating an edge
connected the u;-th node and the v;-th node.

It is guaranteed that for all ¢, j(1 < i < j <m), u; # u; or v; # v; is satisfied.
Output

Output contains an integer W(0 < W < n 4 m), indicating the number of different first moves that can
make Georgia win.

Examples
standard input standard output
31 2
12
4 3 3
12
23
3 4
Note

For the first sample, if Georgia selects node 1 or node 2 for the first move, she can win the game.

For the second sample, if Georgia selects any one of the 3 edges for the first move, she can win the game.
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